Legson & Suvpp * 1

1 3
a] Lry) =7 £ [‘{)(x-—'-,t)} - =2 (x—y)

3 )
F'Yy)y= —2-31! = -1z~

b] ‘F()C)%Pl (X) - 7 - 3()(—54) + 5(,(__17,) Z-z(x "‘03

Plexyx -3 + 10(x—%> —6(x—¥)*
FUY3)x —3 + 0(0. -((0.3)°

cl x

) "“5(7 - 3(t-y) + 5(¢t ——cr)?ﬂ 2 (t—4)° )dt

- ¥
L.
- [Me -3 (t-9) 5(+—9)?_ ;.Ct——q)b'
T 2 "I
v

= 7 {x-y) =3¢ Y"‘/>z+~ S(X"Lf.)j = (_"_l)y

Lz!SM 1 SUPP * 2

D Foox s —3x #xT2yx’ flux S -3(0adt(en) viled
: z P

b) ‘OCM = £y 2 §- 3(x") + ()

2
5 X |
¢) hx)y=Stcwar ¥ [5e - 34" +__t:3]: S« = 2
e o 273

LgSSUV\ R SLVPP&‘?G)‘F’[D):J;_ _F"J(a):_g_::_f_
3

/8l 174
b qen = YF = x + XE 2 o+ x T
. F A 3! )]
?‘_I
: (x 3
O 9(”26%—' $oo = 8*;‘)‘= S5 1 X Fo
: A

ni-}

)| S~ =2

\/ ) Y } g»_:.f_} .

(h-&}.)-: X Nt

The Sarie s (MV“'J“y‘O ’Fb‘f all rf_q,\ Ava berg,

X NCED M IS L}x}

e ‘{'C T

+ X -
b

v}
Czloe

XZ+ x3 o

2%

= Ixdx

Z.
Dr¢ =lo
7. "6

§ twde

(C)'f'Of—rr

_ T =f/"/z<)f4/
ey 10 -

) (o)

P 7 (d

—._.;,__3



Lesson 2- Tex7? Boor freb\en

97 sy Pz 2Rwite —qx vex -ex® v ol —of

—t-

2! . v, st
-é:(o) = 6' |y F | 'Y—C)C) = Zc—;;"%xn Ry =< xedo
(k)= - (o) = -¢ ° :
?HCY) = JTY R !
_Fln(\{) - _-_ell—\d -F'“(OD: _al

|r/)_ ’/ !/ = . 2 lJ’ 1
T2ty fwoset = 0" b e Gy )| e
 fy et 2 o 2"n!

' Y
‘ F(’): -::“a - Fw— —ve L %
? . Y,
o Fn s Bt
: Y ]
';.' (!)'-'— ‘é‘e//"
| 2 3
For H9 Fos sex % Proyes T o Blv-%)-Teony ~E(x- I
') -¥~( —"2,) = 5.,\(1}() = %
| /| ‘F’("T/‘l)"fos(?:)"f—%— 'Y‘o-/ — e € e oo
! 5:"[ 17/.’)«,- —al TR * "\_F.L‘:

RSN

F"'( ‘ﬁ/‘r) T T Cug ( TP?) T -

y
|

2
[77« #13, ) XPoxor=s Y = (x=1) + 3lx-1) fz,cy-p;)j

z 3!
i pA
Frraya o — (-1 + 3(e.) o (0-L33
2
3

Frxy » Q exy T ~1 T 3(x=1) v x=1)"
POy =1 5+ 3(e 2y + (o>

i?,z/ﬁ;}?}, ) = . -r._?:._a-(""n
5 / I (v 3!
E "P:[.x)" * o

‘ £ = ;’;’_ CocFlcicar & - 1 :E
P d SN &

R AOR 1> £l =

Lz
| (2




